Name:

(" 5
\Area of an Irregular Shape )

Find the area of each shape. Remember to include units in your answer.

2l 3-
11cm 8 mm 7m
4 mm
14 cm 10 mm 4m
25cm 16 mm
11 cm 18 mm 9m
20cm
3m
answer. answer. answer.
4 5. 6.
10m dem 10 mm
2m
3
é6m cm 8 mm 3 mm
12mr
é6m 2cm
12m 9 em 3 em 4 mm
4m
2¢cm 3mm 8 mm
4m 3cm
8m 8cm 4 mm
answer. answer:. answer.
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Name:

—(Area and Perimeter of a Tricmgle)—

Find the area and perimeter of each triangle.
a. b. C.
]
l @
1= 3
E 3
]
h 16 mm
8m
areq = area = areq =
perimeter = perimeter = perimeter =
d. e f.
i
] 1
: : S
:; £ N 0
13 CND: 3 3
]
h :
16 km i
13m
areq = areq = areq =
perimeter = perimeter = perimeter =
50 km
g. h. i
5
& 5
~0
& &
Al T
area = areq = area =
perimeter = perimeter = perimeter =
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Name:

( : )
\Area of Rectangles & Trlanglesj

Area of a Triangle Area of the shaded triangle:
x(b xh)=A b=10cm
To find the area of a triangle, h=8.5cm
multiply 2 x base x height. N X 10cm X 8.5 cm = 42.5 cm?
WV
e
Area of a Rectangle = Area of the rectangle:
Ixw=A [=10cm
To find the area of a rectangle, 10.em w=8.5Cm )
multiply length x width. 10cmx 8.5cm=85cm
Find the area of each rectangle and shaded triangle. 7 kit
a b. c.
D
5 =
X
areaofthesquare= ______ arecaoftherectangle=___________  area of the rectangle =
areaofthetiangle=______ | areaofthetriangle=________ | area of the triangle =
d. e. . A
/5_257%}%
8
S "
S
N
3 mi
area oftherectangle=______ | areaoftherectangle=__ | area of the rectangle =
areaofthetriangle=____  areaofthetfriongle=___________ | area of the triangle =

Chadllenge: Find the area of the polygon. Use the back if you need work space.
75m

9m

1 ]
13.5m
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Name:

(Area of an Irregular Shape)

To find the area of an irregular shape made of two or more rectangles,
cut the shape into two or more parts and add the area of each part.

Area of Rectangle 1:

A=lxw
8m A=8x23 8 m
= 2 |
23 m A=184m I| 1 23m
4.6m Area of Rectangle 2: 4.é6m| o -
é6.4m A=]xw 6.4m
= 2
1.6m A=3.68m 1.6m
Total Area:
A=18.4m?2+ 3.68 m?
A =22.08 m?
Find the area of each shape. Include units in your answer.
1. 6.4 cm 2. 2.2 mm
2.2 mm
1.8cm 7 6 mm
4.3 cm
>.2cm 7.2mm
3.4cm Ll
2.1cm 9.8 mm
7.9m
3 4,
43 m 20 cm
58m
128ml ls3m 8.2 cm 12.6 cm 8.2cr
2.6m 5.1cm 5.1cm
3.2m
3.7 cm 3.7¢cm
47 m
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Name:

{Area of an Irregular Shape)

Find the area of each shape. Remember 1o include units in your answer.

1. 6.4cm 2. 108 m 3. 4.5mm
2.5¢cm
8.4 53m 7.4 mm
4, Al
Iem 7.6cm 12.7 mn
73m 54 mm .
5.1cm 3.1m
35m 5.3mm
2.3cm
9.9 Mmm
answer:. answer. answer:
4. 5. 6.
9.7 mm 2 S 4.3m
32m
3.2mm 116 7.9 cm 52cm 94
-ocm 4.1cm om 43m
5.6 mm 8.4 32m
4.3 mm L oM
’ 7.8cm 43 m
5.6 mm 3.2r
13.7 mm 108
FEAERA 12.9m
6.2 mm
9.7 mm
answer. answer. answer.
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Name:

C Surface Area )

Surface area is the total area of all faces of a figure. To find the
surface area of a rectangular prism, imagine it unfolded into six <
rectangles. Find the area of each rectangle and add them together. o
The sum is the surface area of the rectangular prism. 3 1
cm
area of left side: 4cmx7cm= 28 cm? 12.cm
area of top: 4cmx12cm= 48 cm? top
area of front: 7cmxl2cm= 84 cm?2
. _ 2 N, — =o
area of bottom: 4cmxl12cm= 48 cm2 g %% front .6’% back
area of rightside: 4cmx7cm= 28 cm =
area of back: 7emx12cm=  + 84cm? bottom  |# €M
surface area = 320 cm? 12cm
Find the surface area of the following figures.
area of left side: X =
4m area of top: X =
£ area of front: X =
- o]
area of bottom: X =
ém
area of right side: X =
area of back: X = surface area =
area of left side: X =
area of top: X =
o~ 10 mm
g area of front: X =
15 mm area of bottom: X =
area of right side: X =
area of back: X = surface area =
area of left side: X =
area of top: X =
5
N area of front: X =
area of bottom: X =
#em fright side: :
5em area of right side: X =
area of back: X = surface area =
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Name:

C Surface Area )

a0
|41‘
23 front fia
.50 o
WV
N N
G
width
area of front =/ x w area of top = wx/ area ofright=/x 5
area of back = A x w area of bottom = w x / area of left=/x 4
area of front + back = 2(/ x w) area of top + bottom = 2{w x /) area of right + left = 2(/x )

Surface Area = 2(h x w) + 2(w x /) + 2(/x h)

Calculate the Surface Area (8.4.) for each rectangluar prism by using the formula 8§.4. = 2(h x w) + 2(w x /) + 2(/x A)

a.
€ a
[ap]
4m
ém
b.
o,
g b.
S5cm
5cm
c. length=14mm
width=9 mm
c.
height = 20 mm

Super Teacher Worksheets - www.superfeacherworksheets.com



Name:

( Surface Area )

Find the surface area of the following figures.
Work Space
&
I
T 3Im
surface area =
0
3 4cm
8cm
surface area =
&
£
S
20 mm
10 mm
surface area =
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Name:

( Surface Area )

Find the surface area of the following figures.
Work Space

5m

= 5m

surface area =

8cm g
(30}
12cm
surface area =
€
£
0
10 mm
8 mm

surface area =
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Name:

( Surface Area

N
J

Find the surface area of the following figures.
Work Space
-
O
(se]
15¢cm
10cm
surface area =
mm
N
3
3
4 mm
surface area =
ém
4m £
<
w =
3
20m
surface area =
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Name:

( Surface Area )

Find the surface area of the following figures.
Work Space
I
0
16 m
22m
surface area =
5cm
o™
0
3
£
)
14 cm O
12cm
surface area =
12 mm 12 mm
£
w £
(@] N
3 —
3
10 mm
50 mm
surface area =

Super Teacher Worksheets - www.superteacherworksheets.com



Name:

\_/

-
L Surface Area

Find the surface area of the following figures.
a. b 23cm
\
£
E Q
© ®
16 m
22m 19 cm
surface area = surface area =
80 mm 10m
2N
c. d. e ; 3
£ _
E —
8 o
i 3 20 m
40 m
100 m—
surface area = surface area =
e. A bar of soap has the following measurements: surface area =
25 mm x 34 mm x 10 mm. What is the total surface
area of the bar of soap?
f. The measurements for a television are 120 cm surface area =
wide, 68 cm high, and 14 cm deep. What is the
total surface area of the television?
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Name:

(e : e
\Surfc:ce Area of a Cyllnderj

mf\\
\\—-’/

n1=3.14

side
/)eigbt

N

area of top = 77° area of side = circumferance x height
area of bottom = 7172 circumferance = 2nr
area of top + bottom = 2mr® area of side = 275

Surface Area = 211 + 2mrh

Calculate the Surface Area (8.4.) for each cylinder by using the formula §.4. = 277 + 2nrh. Use 3.14 for .

wo
(o

11cm

c. radius=12mm

height =3 mm
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Name:

—@urface Area of a Triangular Prism

area of front triangle = % (bx h) area of right side = right /x w
area of back triangle = % (bx h) area of left side = /eft /x w
area of front triangle + back trangle = 5 x 4 area of bottom =4 x w

Surface Area = (b x b) + (right Ix w) + (left [ x w) + (b x w)

Calculate the Surface Area (S.4.) for each triangular prism by using the formula
S.A. = (bxb) + (right I x w) + (left I x w) + (b x w).

Q.
w & .
3 >
lq,n
7m
b.
b.
c. base=20mm
height =15 mm
c.

right length = 24 mm
left length =18 mm
width = 30 mm
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